
Welk getal ontbreekt t/m 10.000?

Oefening 1

1. 1.864  +     =  3.049

2. 3.162  +     =  4.611

3. 3.535  +     =  6.714

4. 4.685  +     =  7.585

5. 4.734  +     =  6.839

6. 2.596  +     =  3.757

7. 3.975  +     =  6.748

8. 3.056  +     =  4.323

9. 4.018  +     =  6.641

10. 3.858  +     =  5.673

Oefening 2

1. 4.807  +     =  7.997

2. 3.538  +     =  6.664

3. 4.414  +     =  5.631

4. 4.930  +     =  7.758

5. 1.936  +     =  3.027

6. 3.221  +     =  5.937

7. 3.158  +     =  5.056

8. 1.576  +     =  3.127

9. 4.382  +     =  8.683

10. 3.242  +     =  5.373

Oefening 3

1. 4.299  +     =  7.820

2. 4.575  +     =  7.666

3. 3.137  +     =  6.089

4. 4.220  +     =  8.134

5. 2.118  +     =  4.230

6. 4.073  +     =  6.659

7. 4.718  +     =  6.020

8. 4.377  +     =  6.712

9. 4.465  +     =  6.263

10. 3.618  +     =  6.268

Oefening 4

1. 4.481  +     =  6.413

2. 2.522  +     =  4.042

3. 3.721  +     =  5.767

4. 2.157  +     =  3.340

5. 3.548  +     =  5.236

6. 2.492  +     =  3.737

7. 3.809  +     =  6.896

8. 3.353  +     =  5.739

9. 3.896  +     =  6.553

10. 4.918  +     =  6.344
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Werkblad: Welk getal ontbreekt t/m 10.000? |
ANTWOORDEN

Oefening 1

1. 1.864  +  1.185  =  3.049

2. 3.162  +  1.449  =  4.611

3. 3.535  +  3.179  =  6.714

4. 4.685  +  2.900  =  7.585

5. 4.734  +  2.105  =  6.839

6. 2.596  +  1.161  =  3.757

7. 3.975  +  2.773  =  6.748

8. 3.056  +  1.267  =  4.323

9. 4.018  +  2.623  =  6.641

10. 3.858  +  1.815  =  5.673

Oefening 2

1. 4.807  +  3.190  =  7.997

2. 3.538  +  3.126  =  6.664

3. 4.414  +  1.217  =  5.631

4. 4.930  +  2.828  =  7.758

5. 1.936  +  1.091  =  3.027

6. 3.221  +  2.716  =  5.937

7. 3.158  +  1.898  =  5.056

8. 1.576  +  1.551  =  3.127

9. 4.382  +  4.301  =  8.683

10. 3.242  +  2.131  =  5.373

Oefening 3

1. 4.299  +  3.521  =  7.820

2. 4.575  +  3.091  =  7.666

3. 3.137  +  2.952  =  6.089

4. 4.220  +  3.914  =  8.134

5. 2.118  +  2.112  =  4.230

6. 4.073  +  2.586  =  6.659

7. 4.718  +  1.302  =  6.020

8. 4.377  +  2.335  =  6.712

9. 4.465  +  1.798  =  6.263

10. 3.618  +  2.650  =  6.268

Oefening 4

1. 4.481  +  1.932  =  6.413

2. 2.522  +  1.520  =  4.042

3. 3.721  +  2.046  =  5.767

4. 2.157  +  1.183  =  3.340

5. 3.548  +  1.688  =  5.236

6. 2.492  +  1.245  =  3.737

7. 3.809  +  3.087  =  6.896

8. 3.353  +  2.386  =  5.739

9. 3.896  +  2.657  =  6.553

10. 4.918  +  1.426  =  6.344

© JuniorEinstein.be Online oefenen  |  
Educatieve boeken  |  
Werkbladen  |  
Educatieve materialen

Optellen


 



